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Status of fitter

● The fitter for the analysis has been written
– Using an unbinned likelihood fit with a 

decent sized sample. This means it is SLOW.
● Calculate likelihood in parallel 

– Uses Minuit to maximize likelihood
● Minuit can also estimate the stat error for the fit

– e­hat, gE1, gM1 and a1/a2 are current  fit 
parameters

– Now in debugging and testing stage.......
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● This is the likelihood function:                       
                                                                         
                                                                         
                                                                         
                                                                         
                                                                         
                                                                         
        

● Note that it is split up by year and beam
● A single fit could use all data at once.

Likelihood function
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fit parameters

decay rate ( see next slide )

generation
parameters

  (E, cos, z, pK)

where



4 Decay Rate
● In the likelihood function, D =

where
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5 Decay Amplitudes
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Tests for fitter

● Can generate “fake data” with known 
parameters.
– If best fit is not equal to the generation 

parameters, within statistical error, there's a 
problem with the fitter.

– Fitter currently cannot reproduce generated 
parameters.

● There's a confirmed problem with KS / KL  

normalization in fitter – the KS part of the wave 
function is larger than it should be.
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Current Bug

● The time dependence in the decay rate 
needs an accurate description of the 
average KS/KL amplitudes in the decay 
region.

● Looking at the beginning of the decay 
region (z ~ 125.5m) in the vacuum beam, 
The ratio between the KS and KL 
amplitudes is an order of magnitude 
larger in the fitter, compared to the same 
ratio for the MC.  



8
Bug in kaon production or propagation?

– I Use the KTEVMC functions k0dp and  kbdp 
to weight the relative contributions of K0 and 
K0­BAR to the initial kaon state.

● Combined, these will produce the average KS/KL 
amplitude.

– Then I use kev832, also from KTEVMC, to 
propagate the kaon up to the decay region.

– The amplitude problem exists in the decay 
region, so I don't know if the bug is in the 
production or propagation of the kaon.

– Working on this now......
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To Do

– Continue to debug until the fitter can 
accurately converge on generated 
parameters when running on “fake” data

– Fit a number of “fake” data samples and 
calculate standard deviation of fit 
parameters, then check against Minuit's 
errors.
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More To Do

● Using more “fake” data, fit and extract 
stat errors for:
– vacuum beam data only
– regenerator beam data only
– vacuum beam data and regenerator beam 

data combined.
– use whichever option better constrains e­

hat.
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Even more to do

● See if it is necessary to fit for all 
parameters, since we're only interested in 
e­hat now.
– Fixing M1 parameters might help, but I 

should  worry about correlations.
– Same holds for gE1

● Finally compare statistical sensitivity to e­
hat to the older method's sensitivity to   
'+­g

● Remember, the two parameters are related 
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Extra Slides
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● Define:

● We can also define

             
which is the connection between the “new” and “old” direct CP 
violation parameters for this mode. Given one, the other can be 
computed.
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